South Ayrshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 6 - Kyle

Valid Votes

Positions to be Filled

Quota

4,935 3 1,234

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Andy CAMPBELL	Scottish Labour Party	1,247
Julie DETTBARN	Scottish National Party (SNP)	807
Scott MCFARLANE	Scottish National Party (SNP)	721
Arthur SPURLING	Scottish Conservative and Unionist	2,160
		4.005
	Total	4,935

Candidate Andy CAMPBELL Elected with 1,247 votes, being in excess of the quota of 1,234 Candidate Arthur SPURLING Elected with 2,160 votes, being in excess of the quota of 1,234

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Arthur SPURLING

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy CAMPBELL	0	0.00000	0.00000
Transfer to Julie DETTBARN	163	0.42870	69.87810
Transfer to Scott MCFARLANE	211	0.42870	90.45570
Transfer to Arthur SPURLING	0	0.00000	0.00000
Value of non-transferable ballot papers			765.66620
	Total		926.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Andy CAMPBELL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy CAMPBELL	0	0.00000	0.00000
Transfer to Julie DETTBARN	245	0.01042	2.55290
Transfer to Scott MCFARLANE	196	0.01042	2.04232
Transfer to Arthur SPURLING	0	0.00000	0.00000
Value of non-transferable ballot papers			8.40478
	Total		13.00000

N.B. The figures may not add due to rounding.

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Scott MCFARLANE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy CAMPBELL	0	0.00000	0.00000
Transfer to Julie DETTBARN	142	0.01042	1.47964
Transfer to Julie DETTBARN	144	0.42870	61.73280
Transfer to Julie DETTBARN	670	1.00000	670.00000
Transfer to Arthur SPURLING	0	0.00000	0.00000
Value of non-transferable ballot papers			80.28558
	Total		813.49802

N.B. The figures may not add due to rounding.